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@ cosx @ 2cosx @2
@ 1 ® 0

0°<x<90° ¥, 0<cosx<1O|BZ
V(cosx+1)2+ /(cosx—1)2
=cosx+1—(cosx—1)=2
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@ y=3x+4V3 @ y=3x+4
® y=3V3x+4 @ y=V3x+4V3

@yz V3x+6V3+4

x E0 FO BFOE 60° & o|F= AAT} Fas
7]= tan60° = V3 olt}. H (-6,4) & A
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A 2x—y+3 =02 IFEL} x F0| o]FE= 4
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2x-y+3=0, y=2x+3
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12. o2 A4ZH] 25 B3 cos10°—tan 10°+2sin 10° x tan 50 ° 2] G
tde BAR A T34

2= sin cos tan

10° 0.17 0.98 0.18
35° 0,57 0,82 0.70
50° 0,77 0.64 1.20

D 1.15 @ 1.17 @ 1.19 @1.21 ® 1.23

cos10°—tan10° + 2sin10° X tan 50 °
=0.98 - 0.18 + (2 x 0.17 x 1.20)
= 0.80 + 0.408 = 1.208 = 1.21
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Ze sin cos tan

54° | 0.8090 0.5878 1.8764

55° 0.8192 0.5736 1.4281

56° | 0.8290 0.5592 1.4826
@ 5.592 @ 8.29 3 13.882
@®)23.882 ® 29.107

AB = 10 x sin 56° = 10 x 0.829 = 8.29

BC = 10 x cos 56° = 10 x 0.5592 = 5.592

wtatA AABC o] Ed9] Zo]= 10 + 8.29 + 5.592 = 23.882
o|ch.
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@ sin(x+y) =0.77
® cosy = 0.82

® tany = 0.70

@siny =0.82

@ cos(x+y)=0.40
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@ sin45° = cos45° @cos48°>cos38°
@ tan35° < tan40® @ sin37° < cos37°
@sin56° < cosH6 °
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@ cos48° < cos38°
@ tan35° < tan40°

@ sin37° < cos37°
® sin 56 ° > cos 56 °




